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Sub:  Engineering Mathematics 11 Sub Code: 17MAT21
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Ouestlon 1 is compulsory and answer any SIX questlons from the rest. MARKS [CO | RBT

[08] CO6 13

{&ﬂt—tcﬁiﬁ} (b) Evaluate L{t?e3*sin2t}.

L. (a) Evaluate L

o 07] €06 L3
A periodic function of period 2a is defined by, f(t)={ g /;(z;(()l <tt <az where b ey A

E is a constant. Show that L{f(t)}Zg tanh (525)

cost 0<t<m [07] CO6 13
3.  Express f(t) = {cos2t m <t < 2w interms of unit step function and hence find
cos3t t>12m
its Laplace transform.
4. Solve y"(t) — 2y'(t) + y(t) = e® subject to the conditions, y(0)=2, y'(0) = —1 [07]  CO6 L3
by using Laplace transform.
3 Find L{—

[07] CO6 13
(s+1)(s2+9) !

} by using Convolution theorem.
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{cosZt——cos3t} [08] «CO6 L3

I (a) Evaluate L (b) Evaluate L{t?e~3¢sin2t}.

L L . E fzrs 07] CO6 13
A periodic function of period 2a is defined by, f(t)= {—E j}(:;; i < <aZa where (071

E is a constant. Show that L{f(t)}== tanh (%)

cost 0<Lt<m [07] €06 L3
3. Express f(t) ={cos2t m <t < 2m interms of unit step function and hence find
cos3t t>2m
its Laplace transform.
4. Solve y"(t) — 2y'(t) + y(t) = e' subject to the conditions, y(0)=2, y'(0) = -1
by using Laplace transform.

5. Find L"{ !

m} by using Convolution theorem.

[07] €06 13

[07] CO6 L3




10.

/2 /2

Evaluate _[ — X Jw/sin 6d6 = = by using Beta and Gamma functions.
sin
Form > 0andn > 0, show that ,B(m,n) - F(m)r(n)
(”7+'n)

1
Show thatj(] +x)" " (1= x)""dx = 27" B(p,q)using Beta and Gamma functions.

Evaluate ”e'(x2+yz)dxdy by changing into polar coordinates.

4s5+5

. . ; . s +1
(a) FmdL‘{m} (b)Find L {lOg e +1)}

/2 /2
Evaluate j I sinf@dé = r by using Beta and Gamma functions.
0
Form>0andn> 0, show that #(m,n) = D)) :
F(m + n)

Show thatj 1+x)" " (1-x)"" dx = 27*" 3(p,q)using Beta and Gamma functions.

Evaluate J‘J.e'(xz+'vz)dxdy by changing into polar coordinates.

45+5

. ; : - i +1
(a) FmdLl{m} (b) Find L {log S( +1)}

(7]
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